
A D I R O N D A C K  C H A I R  •  A S S E M B LY  I N S T R U C T I O N S W W W. L A N C A S T E R TA B L E A N D S E AT I N G . C O M

Adirondack Chair
 A S S E M B LY  I N S T R U C T I O N S

PA R T S

Seatback (1)A Seat Base (1)B Left Armrest (1)C Right Armrest (1)D Vertical Backrest Supports (2)E

Left Front Leg (1)F1 Right Front Leg (1)F2 Cross Beam (1)G Rear Seat Slat (1)H

N O T E S

• Before assembly, make  
sure all components are  
free from defects.

• Do not assemble if anything  
is broken or damaged.

• A screwdriver and allen  
wrench are required.

H A R D WA R E

Screws (6)AA BB M6-60 Bolts (2) CC M6-70 Bolts (2) DD M6-60 Bolts (6) EE M6-45 Bolts (4) Allen Wrench (1) Screwdriver (1)

S T E P  1

Lay the seat base (B) on a flat, clean surface with the 
slats facing up. Attach rear seat slat (H) to the seat base 
(B) using 2 screws (AA).

B

H AA

S T E P  2

Attach the front legs (F1, F2) onto the seat base (B) 
using 4 bolts with nuts (DD). Align with predrilled holes 
facing out. Ensure all bolts are in before fully tightening. 
Ensure all nuts are flush with the inside of the seat base (B) 
as shown.

F2

B

F1

DD



A D I R O N D A C K  C H A I R  •  A S S E M B LY  I N S T R U C T I O N S W W W. L A N C A S T E R TA B L E A N D S E AT I N G . C O M

S T E P  3

Attach the vertical backrest supports (E) to the back 
of seat base (B). Back rest supports should be attached 
on the inside with 4 bolts and nuts (EE). Ensure all 
bolts are in before fully tightening. Ensure all nuts are 
flush with the inside of the vertical backrest supports 
(E) as shown.

B

EE

EE

E

E

S T E P  4

Attach the armrests (C, D) to the front of the 
legs (F1, F2) using 2 bolts and nuts (DD). Armrests 
should be on the outside of the legs and vertical 
backrest supports. Bolts will be attached from the 
inside with the nut facing the outside as shown.

F2

F1

D

C

DD

DD

S T E P  5

Attach the seatback (A) to the seat base (B) using  
2 bolts (BB).

BB

B

A BB

Adirondack Chair
 A S S E M B LY  I N S T R U C T I O N S



A D I R O N D A C K  C H A I R  •  A S S E M B LY  I N S T R U C T I O N S W W W. L A N C A S T E R TA B L E A N D S E AT I N G . C O M

S T E P  6

Align the armrests (C, D) and vertical backrest supports 
(E) and attach to the seatback (A) with the bolt (CC)  
coming in from the outside as shown.

A

CC

D

C

E

CC

S T E P  7

Attach the cross beam (G) to the front of the legs  
(F1, F2) using 4 screws (AA).

G
F2

F1

AA

AA

S T E P  8

Ensure all screws, nuts and bolts are fully  
tightened before use. Assembly complete.

Adirondack Chair
 A S S E M B LY  I N S T R U C T I O N S


